Precalculus Test 5.1-5.3 Review ( acrcled pr obloss mb&g'ﬁ )

Prove the identity.
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@))tansx = tan x (sec4x- 2 sec? x + 1)

@ cotx cscx—1

cscx+1 cotx

5)cos (x+y)-cos(x-y)=-2sinxsiny
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Find an exact value.

7) 197
tan ——

12

Write the expression as the sine, cosine, or tangent of an angle.

8) sin 9x cos x - cos 9x sin x

Simplify the expression.
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Use t@)mdamental identities to find the value of the trigonometric function.
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Findcoseifs'm6=—ﬁandtan6>0.

Find a) all solutions in the interval [0, 2nt) b) Find all possible solutions

14) 3 .2 sec2x = tan2x
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